A

EJXERCISES,

A. Multiple choice questions (MCQsg).
Choose the correct option from the following :

1. Which of the following is the normal temperature of human bod

y ?
(a) 90°F (b)98.6°F\ (©)80°F W (d)100°F
2. Who discovered the stethoscope ?
(a) Dennial (b) Ruddolf
(¢) Dr.Rene Laennec n/" (d) None of these
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. It helps to eradicate malaria.

n
Which of the following instruments is used to measure the temper
body ? -

(a) Hygrometert><

(b) Thermometer \/
(c) Wet bulb thermometer\)(

(d) Rain gauge

(@) Quinine ~

(b) Penicillin
(c¢) Eucalyptus

(d) None of these

. Which of the following pairs is wrong ?

(a) Penicillin — Sir Alexander Fleming

(b) X-ray machine — Wilhelm Conrad Rontgen

(c) Microscope — Galileo

(d) Small pox — Dr Rontgen, —



' Fill in the blanks.
" 1. The normal temperature of our body is qg -y fe i) o7 e

~ 2. Dr. Jenner developed vaccine for

1s used for knowing about heart beats.

@
- Cow-pox was a common disease among the ’Thl«/('é m a,fo[é, 0
2
5. _ Qe helped in the eradication of malaria.

Pasteurization was developed by _L@Lu,é__ea_‘&;tw "
salileo was an I?t a,l,lm\ scientist.




List IT
rmometer ’ 2) log of wood

b) tleaglass

. © France
‘Stethoscop : >

d) body temperature

Pasteur © tuberculosis

(vi) Microscope d) Dr. Edward Jenner ?
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